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Tanta University, Faculty of Science, Department of Botany

Final Examination for (First level) Students of Geology
COURSE TITLE: COURSE

DATE: 12 JANUARY, 2023 | TERM: FIRST  |TOTAL ASSESSMET | TIME ALLOWED:

MARKS: 100 2HOURS

Section A (Plant Morphology, 50 Marks)

First question:

A- Write the Scientific term for each of the following:- (20 Marks, 2 each)

1
2

2
2.

4.

10-

[s a mature fertilized ovule formed after fertilization with a pollen grain ( )
Type of the germination where the cotyledons are pushed above the ground ( )
Roots that develop from any other part other than the radicle ( )

Type of roots are formed from the lower nodes of the stem near the soil surface as secondary
growth root ( )

Roots arise on the shoots to absorb water vapor from air and not differentiated into primary root
or secondary roots  ( )

Stems that not able to grow in erect position without support due to the absence of sufficient
mechanical tissues ( )

Type of buds that are located on sides or above the lateral bud ( )

The type of stem branching where apical bud modified into permanent organ and the plant

complete its growth from the lateral bud ( )
Stems are located under the ground to perform additional function such as storage ( )
. Pair of appendages that may grow around the leaf base ( )

B- Mark each correct statement with (V) and each false one with (x) (10 Marks, 1 each)

Reticulate venation is a type of venation is restricted to the monocot plant ()

Cauline is a type of leaves arrangement whereas three or more leaves arise from the same node ( )

Compound leaves are those in which the leaf blade is divided into number of leaflets ()
Prophylls leaves are the first green leaves in the hypogeal germination ()
Leaves are provided with veins that help in conduction of food, water and minerals ()
In case of radical arrangement, the leaves arise from the root ()
Winter buds are composed of small leaves covered with scaly leaves ()
Creeping stems a1.'e give adventitious roots from nodes near the soil ()
Root system 1s negatively geotropic and positively phototropic ()

Shoot system is positively hydrotropic and negatively phototropic ()
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Second Question

Choose the correct answer to the following questions: - (20 Marks, 2 each)

1-

10-

The embryonic axis below the point of attachment of the cotyledon
a- Epicotyl b- Hypocotyl  c- Plumule d- root
It is a modified subterranean stem that is usually found underground and divided
into nodes and internodes often give adventitious roots and shoots from its nodes
a- Rhizome b- tubers c-bulbs d- corms
It is a weak stem that form tendril to expose its leaves to the sun
a-  Twining stem b-climbing stem Cc- running stem d- creeping stem
It is a stem which get transformed into a leaf like structure and become flattened and
rich with chloroplast
a- Succulent stem b- spiny stem c- leafy stem  d- storage stems
The stem that is able to carry its branches, leaves, fruits upwardly according to
it has strong mechanical tissues
a- Prostrate stem b-erect stem  c- twining stem d- climbing stem
The leaf base, which is board and surround the dwarf stem
a- Normal b- short sheathed c- long sheathed d- pulvinus
This is the largest, most important, green and dorsi-ventrally flattened part of the plant
a- Leaf petiole b- leaf margin c- leaf stipules d- leaf blade
Compound pinnate leaflets that are arranged on both lateral sides of the midrib like a feather
and terminated with only one leaf
a- Paripinnate b- imparipinnate  c- trifoliate  d-compound palmate
The type of leaf blade which is divided into portion having a large terminal lobe and the othel
lobes decrease gradually towards the base
a- Lyrate lobed  b- lﬁinnately lobed  c-palmately lobed d-compound blade
Adventitious roots are developing from

a- Radicle b- seed c- stems d- hypocotyl
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Section B (Plant Anatomy, 50 Marks)

Third Question

A- Write the scientific term in front of the following sentences:- (20 Marks)
1- It is composed of Trachids, vessels, parenchyma and fibers (.....)
2- They are Living, storage and thin wall tissue (...... )
3- It is differentiated into Cytoplasm and nucleus (.....)

4-It is a watery, gelatinous, semi-transparent fluid found in eukaryotic and
prokaryotic cells (...... )

5- The living cell organelle responsible for energy production (......... )

6- They are used for the exchange of gases in between the plant and atmosphere
(cevennnn)

7- Non-living tissue, their cell walls are lignified and have no intercellular spaces
(ceeenes) |

8- It is formed by the condensation of glucose and consist of layers around hilum
(S )

9- It is a network extends from the nucleus to the margins of the cell and
responsible for transport compounds from one part to the other inside the cell

10- The aqueous solution containing organic and inorganic substances (....... )
B- In a table, Compare between: - (10 Marks) '

1- Calcium carbonate and calcium oxalate

2- Ribosomes and lysosomes

Fourth Question: -

Give short note on :- (20 Marks)

1- Types of vascular bundles

2- Types of plastids

3- The dermal tissue and function of epidermis
4- Simple permanent tissues

*With my Best Wishes*
Dr. Walaa Abd Elmegeid
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PART I: Choose the correct answer, (120 marks, 4 marks each)
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1. Which of the following atomic symbols and names is correct?

A.. Phosphorous, P C. magnesium, Mn
B. Cobalt, CO D. iron, Ir

2. When combining the masses 0.0462 kg , 58.432 kg and 7854 kg, the total has significant
figures equals:
A3 B.6 C.5 D.4
3. For the relation; 1 atm = 1.01325 x10° Pa = 760 torr. When the pressure is 91.4 atm, the
correct value is;
A. 6.95x 10° kPa C. 9.26x107 torr
B. 9.26x10° kPa D. 9.26x10° kPa

4. The temperature of a system is measured to be 75.4°F. An equivalent temperature would
be,

C. A.59.60C B. 78.10C C.332.7K D.2973 K
5. The compound copper (II) nitrate would have the formula,
A. CuNO; B. Cu;NO; C. Cu(NOs)2 D Cu:NO;

6. All atoms of a given isotope of the same element,
A. possess the same mass number.
B. possess the same chemical properties
C. have the same atomic number
D. all the above

7. The isotope 32Cr has in its nucleus,
A. 24 neutrons C. 28 protons
B. 28 neutrons D. 52 neutrons

8. An example of an element that can be classified as a metalloid is,

A. arsenic B. cobalt C. sodium D. sulfur

1
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9. The simplest formula of the molecule P,0,, is,

A.PO C. R0
B. P,O, D. P30y,
10. Aqueous solutions of HCI, HNOQ,, H,S0O,, and HCIO are all,
A. acids C. binary ionic compounds
B. alkalis D. oxoanions
11. Both §3Rb*and 32Br" have the same number of,
A. protons B. neutrons
C. electrons D. (protons + neutrons)
12. What is the mass percent of sodium in sodium sulfate, Na,50,?
A.16.19% B. 1933 % C.2857T% D.3237%

13. Given: 2Pb (NO3)2(s) — 2PbO(s) + 4NO2(g) + Oz(g). If 16.8 g of Pb(NO3)2
decompose, how many grams of NO2 are produced?(Pb=207,N=14,0=16)

A.2.34 B. 4.67 C. 935 D. 33.6

14. Determine the number of molecules of sucrose in 2.00 x 102 grams of sucrose,
C12H22011, (C=12, O=16)

A. 0.585 B. 6.84 x 10° C. 3.52x10% D. 1.20 x 108

15.A sample of molecular hydrogen weighing 1.008 g contains the same number of atoms
as,
A. 16.00 g of oxygen gas
B. 12.00 g of Carbon

C. both of the above
D. none of the above

16. Determine the weight in grams of one molecule of iodine, I2, (I = 127).
A. 1.66 x 10-24 B. 422 x 1022
C. 253.81 D. 2.37 x 1021

17. A compound contains by mass 40.0% carbon, 6.71% hydrogen, and 53.3% oxygen.

A 0.025 mole sample of this compound weighs 3.75 g. The molecular formula
of the compound is

A. CHO B. CH,O C. CeH 1404 D. CsH,00s5

2
Bubble (8 daaall cllay) JIB o5 Glaieyl Al € Jad ALyl Ja clades B e e e glasay) i sala 45
' .34l Sheet



18. How many grams of ammonia are produced when 1.50 x 102 g of hydrogen are reacted
with 1.50 x 102 g of nitrogen? N2(g) + 3Ha(g) —2NH3(g)
A. 1.82x 102 B. 3.00x 102
C. 6.00 x 102 D. 8.50x102

19. For a fixed amount of gas at a fixed pressure, changing the temperature from 30°C
to 60 °C causes:

A. the gas volume to decrease

B. the gas volume to double

C. the gas volume to increase but not to double

D. the gas volume to decrease to half its original value

20. If a 0.300-L flask at 27°C and 1.00 atm contains 0.975 g of vapor, the formula for
the vapor could be,

A. S04 B. 80 C.80; D. 8O

21- In a mixture of CHq(g) and C;He(g), the partial pressure of CHy(g) is 0.825 atm. If the
total pressure of the mixture is 1.400 atm, the mole fraction of C:Hg(g) in the mixture
is

A.0.371 B. 0.411
C.0.525 D. 0.589

22. Which of the following is true? Equal volumes of the gases, nitrogen dioxide and
hydrogen bromide, under the same temperature and pressure have equal;
1-number of atoms.
2- number of molecules.
3- average velocity.
A. 1 only B. 2 only C. 3 only D. 1 and 2 only
23.Real gas molecules differ from ideal gas molecules in that real gas molecules

A. have larger masses.

B. have smaller masses.

C. collide with elastic collisions.

D. have attractions between molecules.

3
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24. Arrange the following sets of quantum numbers in order of increasing energy. If they
have the same energy, place them together.

a.4,2,-1,+1/2

b.1,0,0,-1/2
c.3,1,1,-1/2
d.2,0,0,+1/2
A.a>b>c>d B.a>¢c>b>d
C.a>¢>d>b D.b>c>d>a

25. Which of the following represents ionization energy of iodine?

A.L(s)— Ix(s) + e
B. li(g) — I*(g) + e
C.I(s) = I*(s) +e
D.I(g—T'(g)+e
26. Which of the following set of quantum numbers not allowed;

A.1,0,0,-1/2 B.3,1,1,-1/72
C.3,3,-3,+122 D.4,3,3,+1/2
27. All of the following species are isoelectronic with Ar EXCEPT
A K B.CI” C. Ca? D. Br~
28. Which of the following electron configuration represents a paramagnetic atom?
1s 2s 2p
A.(TD (T (X1

B. (11 (T M)

C. (11 (1) o)
D. All of the above

29. The correct order of increasing electronegativity of the five atoms , Ca, Cl, Rb, Br, Ga,
is:

A.Ca<Rb<Ga<Br<Cl
C.Cl<Br<Ga<Ca<Rb

B.Rb<Ca<Ga<Br<Cl
D.Rb<Ga<Ca<Br<Cl

30. Arrange the flowing atoms; K, S, Sc, and Clin order of increasing atomic radius;

A Sec<K<Cl<S C.S<ClkK <S¢
B.K<Sc<S8<Cl D.Cl<§S<Sc<K

4
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uestions & Problems (30 Marks)

2- Complete the following table (18 Marks, two marks each)
Draw the Lewis structures for the following: (12 Marks, tour marks each)
- =
NOs SKs XeFy . " _
Lewis structure == (@) B
Lewis - o o AN
structure % _u.. ._u -
Geometry
Polarity
Hybridization
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TANTA UNIVERSITY
FACULTY OF SCIENCE
DEPARTMENT OF GEOLOGY

EXAMINATION for First level B.Sc Geology Students

COURSE TITLE: Historical Geology COURSE CODE: GE1103
DATE:| JAN, 2023 TOTAL ASSESSMENT MARKS: 100 TIME ALLOWED: 2HOURS |
(Part I): (1 hour)
1-_Put \ or X marks and correct the wrong ones:- (21 marks)

1- The relative age is used for interpret the relation between the sun and the earth

2- Arabian-Nubian shield occur in America and related to Alpine Orogeny at 900 Ma
3-The absolute age determined by using trilobites.

4-The Precambrian Era classified into Paleozoic, Mesozoic and Cenozoic.

5- Oceans and continents fixed during geologic time and no change in the surface of earth
6- Stony Meteorites is similar to the core of the earth

7-The Hadean Era began at 2300 to 1300Ma and occurred in Sinai

Answer the following questions- (29 marks)
1-Define the Paleo-Proterozoic Era, age, classification and occurrences in Egypt and the World.

2-What is the evidence for the relation between the earth and sun?

3-Write on Pan-African orogeny, alpine Orogeny and Varascian orogeny

4-Define the Achaean Era, age, classification and occurrences in Egypt and the World
5-Write on methods for absolute age determination

6-Describe the Hadean Era, the age and occurrences in Egypt and the World.

(Part II) ): (1 hour)

Choose the correct answer of the following questions: (50 Marks)

1) Which of the following correctly describe the term Cenozoic

a. Age of mammals b. age of human c. age of new life d. age of the conifers

2) Which era in Earth's history is known as the Age of Reptiles
a. Paleozoic Era b. Precambrian Era c. Cenozoic Era d. Mesozoic Era

3) Which of the following characteristic of the Paleozoic Era
a. Mollusca b. Trilobite c. Brachiopods d. Birds

4) Which of the following index fossil for the Cambrian Period
a. Graptolites b. Archaeocyatha c. Trilobite d. Brachiopods

5) Approximately, 90% of the most important events in Earth's history happened in
a. Paleozoic b. Cenozoic c. Mesozoic d. Precambrian




6) In which period the Graptolites were dominant

a. Cambrian b. Ordovician c. Permian d. Triassic

7) What the bases of boundary delineation between the periods and eras

a. Absence of organisms  b. appearance of organisms c. Absence and appearance of organisms

8) Which period is also known as the age of fish

a. Permian b. Ordovician c. Devonian d. Triassic

9) Which period is referred as the "age of dinosaurs?

a. Triassic b. Cretaceous ¢. Devonian d. Jurassic

10) The first life forms on planet Earth occur during the Archean are called
a. eukaryotes b. trilobites c. protists d. prokaryotes

Wit Good s

| Prof. Abdelfattah A. Zalat | Prof. Mohamed M. Abu Anbar |
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Tanta University, Faculty of Science, Department of Physics

Examination for first year students

Course title | Heat & Properties of Matter (Physics 1) | Course Code: PH1121

Date 10-01-2023 Total Assessment Marks: 150 Time Allowed: 2 hrs

Answer first and second questions in the answer sheet model (Bubble sheet) (60 Marks)

First Question (Properties of Matter): (30 Marks)
1) When a rope is pulled on ejther side, what is the stress acting on it?

A) Compressive stress B) Tensile stress C) Normal stress D) Tangential stress
2) What is the dimensional formula for the universal gravitational constant,
AMILT] B [MILT] oMLy p) [M2L3T]

3) A particle is initially at the centre and going towards the left, Let T be the time period of the
simple harmonic motion (SHM) it is undergoing. What will be its position and velocity at
time 3T/4, if it starts from the centre at x=07?

A) At right extreme, zero velocity B) at centre, maximum speed towards left
C) at centre, maximum speed towards right D) Mid-way between centre and -A

4) If the time period of a simple harmonic motion (SHM) is doubled, then the amplitude of the
SHM will becomes

A) double B) 4 times C) 8 times D) remains the same
5) The viscous force the relative motion between the adjacent layers of a fluid in motion.
Which one of the flowing fits best in the sentence?
A)opposes  B) never affects C) facilitates D) may effect under certain conditions

6) If the surface of a liquid is plane, then the angle of contact of the liquid with the walls of the
container is

A) Acute angle  B) Obtuse angle C) 90° D) 00
7) the distance covered by a particle undergoing SHM in one-time period is (amplitude = A).
A)2A B)4A C) Zero D)A
8) For simple harmonic motion, the magnitude of the acceleration is greatest when the
A) velocity is maximum B) displacement is maximum C) displacement is zero D) force is zero
9) Which of the following is a unit of dynamic viscosity?
A)M LT B)M! L T1]. C) [M!'L2T7], D) [M!' L2 T2,
10) Raindrops are spherical in shape because of

A) Capillary B) Surface Tension C) Downward motion D) Acceleration due to gravity




Second Question (Heat): (30 Marks)

11) The molar specific heat constant pressure of an ideal gas is 7R/2. The ratio of specific heat
at constant pressure to that at constant volume is?
A)9/7. B)&/. C) 7/5. D) 5/7.
12) A substance that heats up relatively quickly has a:
A) low specific heat capacity.  B) high specific heat capacity.
13) The lowest temperature possible in nature is:

A) -273 °C. B)0°C. C)4K.
14) As you heat a block of aluminium from 0 °C to 100 °C, its density:
A) Increases. B) Decreases. C) Stays the same.

15) A glass jar (o= 3x10¢ C') has a metal lid (o = 16x10 C') which is stuck. If you heat
them by placing them in hot water, the lid will be:
A) Easier to open. B) Harder to open. C) Same.
16) Which of the following state of the matter have two specific heats?
A) Solid. B)Gas. C)Liquid. D) None of these.
17) When 60 calories of heat are supplied to 15 g of water, the rise in temperature is
A)75°C. B)9000°C. C)4°C. D)0.5°C.
18) The process of transfer heat by actual migration of particles of the substance is called as
A) Conduction ~ B) Convection C) Radiation D) Heat transfer
19) What is the S.I unit of specific heat capacity?
A) J'Kgk! B) I'Kg2?k!. C)J'Kg'k'! D) I'Kg'k?
20) The molecule of a monatomic gas only three translational degrees of freedom. Thus, the
average energy of a molecule at temperature T is
A)3KsT. B)(3/4)KzT. C)(1/3)KsT. D) (3/2) KeT.

Third Question (Properties of Matter): (45 Marks)

1. Explain the elasticity curve and write the types of deformation in the solid bodies.
2. Proof the Formula for centripetal acceleration and force in circular motion.
3. Explain how to determine the gravitational acceleration using the conical pendulum.

Fourth Question (Heat): (45 Marks)

a) Explain an electrical method for determination the specific heat of a liquid. (15 Marks)

b) Discuss in details how to determine the thermal conductivity of a good conductor. (15
Marks)

¢) Explain why the molar specific heats of gases at constant pressure (Cp) are greater than the
molar specific heats at constant volume (Cv). (10 Marks)

d) A liquid takes 5 minutes to cool from 80 °C to 50 °C. How much time will it take to cool
from 60 °C to 30 °C. The temperature of the surroundings is 20 °C. (S Marks)

Good Luck

Examiners: Dr. Mohamed Elsheshtawy, Dr. Mohamed Elnaggar.
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